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for the current delivered by the source

Q.1 For the circuit shown in fig. 1, obtain an expression S
t t=0. Assume the circuit to be initially

as a function of time, when the switch S is closed &
unenergised. - [10]
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Fig.2
with a suitable example. [5]

Q.2 a) State and explain the superposition theorem
=b)’F i.ﬁd:the_fqux_r_qntth;ough=th&S—-ohmrresistopat—D-D-terminal--inihe;circuitshownin-_ﬁg.;.’zL[,5_]:
Q. 3 a) Obtain the impedance Z for the following circuit shown in fig. 3. A . [5]
b) Find the Vinand Ry at terminal A-B for the fig. 4. [5]
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Q.4 a) Determine z(t) = x(t) * y(t), where X(s) = EJ% and - Y(s) =55 (5]
(" * " denotes convolution operator). [5]
b) Obtain the cut-set matrix for network shown in the fig. 5 &
Fig. 5
Q.5 State and prove the maximum power transfer theorem with suitable example. 1t

---END---




